Rivet 3.1.10, = 3.3M events

_ 7QOQ GIeVI ] Sth QCD

fe) 103 __l I I I I | I I I I | I I I I I I I I |__

E10E (0. > 0.2 GeV) E

<]C — T -

g . ]

B 10° =

© — -

10 = —=

107 E =

1072 = 4 5

— —a&— Pythia 8.308 default ‘KE

u Pythia 8.308 tune-1

107° & Pythia 8.308 tune-2c —

; Pythia 8.308 tune-2m ;

107 = =

= | | | | | | [, | | | | | | | | [, | | [ H

L

. 2F -

E - -

3 F =

0 B |

a u i

m — —

g 1 -
>

o — _

e o _
je

E - —
o

0.5 ]

T T R T I R T T I R T T I R T T l

0 ) 10 15 20

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


